Algebra II
Name___________________________

Writing Equations of Lines
In order to write the equation of a line, two things are needed: (1) a point and (2) a slope.

If one or both of these are not given, they must be calculated. For example, if given two points, you have (1) a point but are missing (2) a slope. Use the two given points to find the slope. For your point you may choose either one.

Equations can be written from 


point-slope form                       
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slope-intercept form                 
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Two lines that are parallel have exactly the same slope.

Two lines that are perpendicular have negative (opposite) reciprocal slopes.
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   Note: 2 and (2 are not perpendicular
      When writing equations for perpendicular lines, you must adjust your slope first, before writing the equation. 

Equations can be answered in Slope-Intercept form (
[image: image9.wmf]=+

ymxb

) or Standard Form (
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). Note that for Standard Form 
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 must be positive and no fractions are allowed.

Write the particular equation of the line described in both Slope-Intercept and Standard form.  

1.  Has a y-intercept of 
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 and a slope of 
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2.  Through 
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 and a slope of 
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3.  Through 
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4.  Through 
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 and parallel to 
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5.  Through 
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 and perpendicular to 
[image: image21.wmf]4316

+=

yx

.
____________________




____________________

6.  Has a y-intercept of 
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 and a slope of 
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7.  Through 
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 and a slope of 
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8.  Through 
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9.  Through 
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 and parallel to 
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10.  Through 
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 and perpendicular to 
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11.  Has x-intercept of 4 and a y-intercept of 3.

____________________




____________________

12.  Through 
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 and parallel to 
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13.  Through 
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 and perpendicular to 
[image: image35.wmf]328

xy

-=

.
____________________




____________________ 
_1346101995.unknown

_1346102542.unknown

_1346102822.unknown

_1346103136.unknown

_1346102771.unknown

_1346102498.unknown

_1346102420.unknown

_1346102012.unknown

_1212410860.unknown

_1212410910.unknown

_1212410976.unknown

_1212411133.unknown

_1346101943.unknown

_1346101975.unknown

_1346101931.unknown

_1212411155.unknown

_1212411085.unknown

_1212411102.unknown

_1212410988.unknown

_1212410937.unknown

_1212410947.unknown

_1212410922.unknown

_1212410886.unknown

_1212410897.unknown

_1212410871.unknown

_1212410689.unknown

_1212410719.unknown

_1212410759.unknown

_1212410704.unknown

_1212410667.unknown

_1212410680.unknown

_1212410649.unknown

_1212410659.unknown

_1212410633.unknown

